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Maths

Please practise your 3, 4 and 5 times tables.

Today we will be focusing on common factors.

Follow the slides to complete your maths activity.  











1) List the factors of 36

2) Which number is not a factor of 14?

1 4 7 14

3) What fraction of the multiples of 7 are odd?

Less than half Half More than half

4) 64 ____ 48 ____ 32



1) List the factors of 36

2) Which number is not a factor of 14?

1 4 7 14

3) What fraction of the multiples of 7 are odd?

Less than half Half More than half

4) 64 ____ 48 ____ 32

1, 2, 3, 4, 6, 9, 12, 18, 36

56 40





1 row of 8 is equal to 8 1 and 8 are factors of 8

Have a think

2 rows of 4 are equal to 8 2 and 4 are factors of 8

The factors of 8 are: 1, 2, 4 and 8



1, 2, 3, 4, 6 and 12

Have a think

The factors of 12 are: ________________

The factors of 8 are: 1, 2, 4 and 8

1, 2 and 4 are factors of 12 and 8

1, 2 and 4 are common factors of 12 and 8

Whitney and Dexter both have dark hair.
They have dark hair in common.



Factors of 15 Factors of 25

1 2 3 5 15 25

Have a think

1, 3, 5, 15 
1, 5, 25

Common factors of 15 and 25



What is the highest common factor of 27 and 90?

The factors of 27 are 1, 3, 9 and 27

Have a thinkThe factors of 90 are 
________________________________1, 2, 3, 5, 6, 9, 10, 15, 18, 30, 45 and 90

90

1 and 90

2 and 45

3 and 30

5 and 18

6 and 15
9 and 10

9



Rosie has 14 tennis balls.
Amir has 24 tennis balls.

Ball containers can hold 2, 4, 8 or 10 balls.

Each child wants to buy containers all of the 
same size and to have only full containers.

1) Which container size could both Amir and 
Rosie use? _____

2) Which container size could neither Amir nor 
Rosie use? ______

Have a think
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Choose at least 3 activities from one of the slides below to 
complete on paper.  There are 9 questions and each is a bit 

harder than the one before.

Remember that you can start from whichever question you like 
and can move on if you want more of a challenge.



























English
Today’s focus is using exciting vocabulary in our writing.  We 
are looking at characters and settings and thinking about what 
words we can include that make our descriptions sound exciting.

Your task today is to write a description of a character and a 
setting using some of these words.  You can use characters and 
places you already know or be creative and make up your own!





P.E.
This half term we are working on our gymnastic skills and using different
static balances in P.E. Make sure to complete the warm up exercise before
attempting any exercise so that you don’t damage your muscles. Check
that you have enough space around to move safely and that you have a soft
surface to work on. Each week we do a skills session and an active session.

Today your challenge is to be active for at least 30 mins! You could use a
Joe Wicks workout from YouTube, play a game in the garden, dance along
to music or even complete some yoga.


